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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)
(ii)

(iii)

(iv)

(v)

(vt)

This question paper contains 39 questions. All questions are compulsory.

Question paper is divided into FIVE sections viz. Section A, B, C, D
and E.

In section A - question number 1 to 20 are Multiple Choice Questions

(MCQs) carrying 1 mark each.

In section B - question number 21 to 26 are Very Short Answer (VSA)
type questions carrying 2 marks each. Answer to these questions should

be in the range of 30 to 50 words.

In section C - question number 27 to 33 are Short Answer (SA) type
questions carrying 3 marks each. Answer to these questions should be in

the range of 50 to 80 words.

In section D - question number 34 to 36 are Long Answer (LA) type
questions carrying § marks each. Answer to these questions should be in

the range of 80 to 120 words.

(vit) In section E - question number 37 to 39 are of 3 source-based/case-based

units of assessment carrying 4 marks each with sub-parts.

(viit) There is no overall choice. However, an internal choice has been provided

31/6/1

in some Sections.
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Y 1 & 20 6 % YT A fou MU =R fahedt # @ gow 3fa vk faeq 9w 3k
fefa
1. HEG: O7g % 1SS Tt o TfhaT id §, Weg $© Y137l & SAT1ES AT o
oft 7fiTTshaT 2 € | 39 TR & ifeaesh SATaTES §
I. MgO
II. ZnO
1. ALO,
IV. CaO
(a) IIRII (b) II 3III

(¢) MIIARIV (d) 13RIV

2. Al T IF T ITHIHEIH FARIEE o it e i 5 sreft 72 | 7= et &1 |
Fiar & et arfetehT ST 31eREA KT 3R wE foshew g :

THA | AT FANEE TR ... pH @1 ufer
(a) TAE | T 3TFA TR TE &R i 7 a4 %Y
(b) HHE | G TR TR YA & hl & EICED
() AT | o 37T 3R G &R 79 HH
(d) TR | oo TR IR T 8T i 7

3. = & et arferet @ 38 faeen w1 g foed fefefaa tamtes adison § samgr i
FTEEATAAT % Tedtehi (X) 3T (Y) % 3ferd 3Tareer udieh feu mu 2

X) (Y)
@ | (s )
®) | (aq) (g)
) | (aq) (s)
@@ | ( (aq)
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SECTION - A

Select and write one most appropriate option out of the four options given

for each of the questions 1 — 20.

1. Metal oxides generally react with acids, but few oxides of metal also react

with bases. Such metallic oxides are :

I.
II.

III.
IV.

()
(©

MgO
ZnO
Al,O4
CaO
Iand II

(b) II and III

IIT and IV (d TandIV

2. Few drops of aqueous solution of ammonium chloride are put on a

universal indicator paper. The paper turns pink.

Study the following table and choose the correct option.

Nature | Ammonium chloride is a salt of .... | Range of pH
(a) acidic weak acid and strong base less than 7
(b) basic weak acid and strong base more than 7
(¢) acidic strong acid and weak base less than 7
(d) basic strong acid and strong base 7

3. Select the appropriate state symbols of the products given as X and Y in

the following chemical equation by choosing the correct option from table

given below :

X) Y)
@ | ) )
b) | (aq) (2)
) | (aq) (s)
| (@ (aq)

31/6/1
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4. G FEU X SR Y Bl YUFH-YUF T § =GIA T | T 37 GH1 el § hRere
fhremeft Rt farerm X Tl &1 e aun foer Y # s uftadd Tl g3, 31d: X 3R
Y E

X) ()
(a) Na,CO;, | NH,CI
() Na,SO, |NaHCO,
(¢ NH,CI Na,S0,
(d NaNO; |Na,SO,

5. Sy lAuTu @ H (1), (2), (3) 3K (4) HA: &

(a) hwgeh, BT oTdeh, I ShITIrehT, fifarment
(b) e, BT ok, Tifadent, R HITIHT
(c) BNA e, Shrseh, Tfaraeh1, R HIRTHI
(d) Tifaaert, gr HIRFT, g, B waw

6. Hieft a1 ¥ = 3R 9isfered =T W fshamerarra 8 S Afeass & fohdt Wi & %R
avd g | T & mft arfereet & 38 v At ferf 3 am g

TfEerss 1 ar T
(a) 3 TfETsh THTETSh
(b) uea afeTsh HEID L
(c) YT AfeTsh FTHfETSH
(d) U= Tfeash gal
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4. Two salts X and Y are dissolved in water separately. When
phenolphthalein is added to these two solutions, the solution ‘X’ turns
pink and the solution Y’ does not show any change in colour, therefore ‘X’
and Y are 1

X) Y)
(@) | Na,CO, | NH,CI

() | Na,SO, | NaHCO,
(©) | NH,CI Na,SO,
(@ | NaNO, Na,SO0,

5. In the given diagram of a closed stomata : (1), (2), (3) and (4) respectively
are 1

(a) nucleus, chloroplast, guard cell, vacuole
(b) nucleus, chloroplast,, vacuole, guard cell
(¢) chloroplast, nucleus, vacuole, guard cell

(d) wvacuole, guard cell, nucleus, chloroplast

6. Walking in a straight line and riding a bicycle are the activities which are
possible due to a part of the brain. Choose the correct location and name

of this part from the given table : 1
Part of the Brain | Name

(a) | Fore brain Cerebrum

(b) | Mid brain Hypothalamus

(¢) | Hind brain Cerebellum

(d) | Hind brain Medulla

31/6/1 3= T -2 P.T.O.



7. HEBE 10 cm HIHH U % A GUUT BT STAT hleh TohEl T T w1 Fafera I
HTT =TET 2 | gi0 & oy (aq) 6 gft fopaft B = 2

(a) 10cm A (b) 10 cm

(¢) 10 cm ¥ 20 cm & &= (d) 20 cm T 3R

8.  sii=t (eprE) firsmg B
(a) I 3R e &1 (b) TefHfRm 3R e 1
(¢) hi, T 3 fSiep <A1 (d) HRIR A

9. | Wi % a1 fopw T fereft = o foReht S1g o M9 (T'T) 1 fereft 31g 9 0 (tt)
% H1Y FHT HUAT T | F, Hafd o 9l § g o Wi 3R G i a1 37T
T EAT 7

(@ 1:3 ®) 3:1
© 1:1 d 2:1

10. 3R@ H feu 7w 18R S1et 1 31eaae shifsre 31t gem yrerfies Iusierr vg=nfa

(a) ET 3R T (b) Uy 3K fereett

(©) Tl 3R AW (d) =g 3R T
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7. A student wants to obtain an erect image of an object using a concave

mirror of 10 cm focal length. What will be the distance of the object from

mirror ? 1
(a) Less than 10 cm (b) 10 cm
(¢) between 10 cm and 20 cm (d) more than 20 cm

8. Bronze is an alloy of 1
(a) Copper and Zinc (b) Aluminium and Tin
(¢) Copper, Tin and Zinc (d) Copper and Tin

9. In an experiment with pea plants, a pure tall plant (TT) is crossed with a

pure short plant (tt). The ratio of pure tall plant to pure short plants in F,,

generation will be 1
(a) 1:3 b) 3:1
¢ 1:1 d 2:1

10. Study the given figure of a Food web and identify the primary consumer

in the food web: 1
(a) Mice and Bear (b) Rabbit and Cat
(c) Rabbit and Fox (d) Mice and Rabbit

31/6/1 3= 9 -2 P.T.O.



11. et 5 fg@ued o =l %1 98l shH 9T -

| ; : v ¥ Vo

() LILIILIV,V () L IILIL V,IV
(¢ LI V,II, IV (d I ILIILV, IV

12. <= < 78 vEmfes wefienton 1 3 1T W faem $ifse -
I. Mg+ 2HCI —> MgCl, + H,
II. NaOH + HCI — NaCl + H,0
T efiehT] & HeIferd el e B -
(a) T Toreermam arfirfspam 3R 1T forior srffsran @
(b) T foeemm srfifsran 3 D fgfasenmom srfufran @ |
(€ T 3R IL QT foreemom AR £ |
(d) T 3R IP ai feferem siifsramd & |

13. = gwiiu e e % e g v Tt & fader % st & avt P’ iR Q) e § -

I A |

I ™~ |

| X |
(a) T ST ST (b) ST IR AT
(c) <ret 3T et (d) = 3tEn
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11.

12.

13.

Choose the correct order of the stages of binary fission in Leishmania.

| : » v Y v o
(a) LILIILIV,V () I, IIIIV,IV
(¢ LIII, V,II, IV d LI I, V, IV

Consider the following chemical equation I and II

I. Mg+ 2HCI — MgCl, + H,,
II. NaOH+ HC! — NaCl + H,0

The correct statement about these equations is —

(a) T 1s a displacement reaction and ‘II’ is a decomposition reaction.

(b) T 1s a displacement reaction and ‘II’ is double displacement reaction.

(¢) Both T and ‘I’ are displacement reactions.

(d) Both T and ‘I’ are double-displacement reactions.

In the following diagram showing dispersion of white light by a glass

prism, the colours ‘P’ and ‘Q’ respectively are —

[ A
\P ‘
(a) Red and Violet (b) Violet and Red
(¢) Red and Blue (d) Orange and Green

31/6/1 2= 11 -2



14. = few mu fF gsai X, Y 3R Z W fomm I — 370 @ oF 91/8 59 b § faepfad
BrT/ETT 2

(a) wHad X (b) HIA L
() X 3IY (d) Y IRZ

15. Topeft feft ot arraTel afeTorent < HioR Feaehia &
(a) YARQE |
(b) UREATTAeRT & T 1 3T I W aedT JAar 2 |
(c) URHATeAeRT & fR 1 3R A W Sga1 a1 & |
@) v fFgREAH Eai? |

16. WM A3 1 98 W i 91 2 Fred gentsr 99 § gas a1 g -

(2) e (ghewee)

(b) gacft

() < (et o)
(d) i (S Ted)
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14. Consider the following three flowers namely X, Y and Z. Which flower(s)

would develop into a fruit ? 1
(a) X only (b) ‘7’ only
(¢ X and ‘Y only (d) Y and ‘Z

15. The magnetic field inside a long straight current carrying solenoid : 1

(a) 1s zero.
(b) decreases as we move towards its end.
(c) 1increases as we move towards its end.

(d) 1is same at all points.

16. In human eye the part which allows light to enter into the eye is — 1
(a) Retina (b) Pupil
(c) Eye lens (d) Cornea

31/6/1 —3= 13 -2 P.T.O.



17.

18.

19.

20.

I HEAT 17 § 20 3TRTRUH — ST YT TG I3 2 -
T I H @ wUF — AT (A) 3R HR0 (R) fow w2 | 39 vl % S A fRu

ST 3 e i g AT

(a) (A) 3R (R) THI 981 & 71 (R) T (A) 1 TE1 AR 21 T £ |
(b)  (A) 3R (R) T H&1 &, W (R) G (A) b1 weft el e &1 1 % |
© AT "R TR |

d) (A) e g, g (R) TR |

iR (A) : I8 g fear simar 2 fop foreft 3t st agepd shid o forerem sl @mar
forenifea =td gu Sa 1 310 1 fiyetmaT =fae, 37t w1 STet | & STe T =g |

FHROT (R) : 375 1 A H el i 31 9k sTeafiss Ssaard gt 2 |

AR (A) : IRTETRAT 1 e i T Hott T & I o19d T&i 3Tl # |

FHROT (R) : Foret STETR =f@e # Hs1i &1 YaTg Th{GRT # |

arftreRer (A) : 3TiET 37U PR Hag & e S8 Ta4i & IS T80 i ¢ |
HROT (R) : Tt UehehIf¥Thiar Sfia 79T WioiH Trgul SiIfSTehr Hag & 780 &id & |

AR (A) : THTA T ToHTeh TR FIYTH ASIT oh TR TR FaUTeh shl TULT
e ga g |
HROT (R) : 3 AfiTehi o 3707311 o s SN oot STt Yool 2id § |
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Q. No. 17 to 20 are Assertion — Reasoning based questions.

These consists of two statements — Assertion (A) and Reason (R). Answer

these questions selecting the appropriate option given below :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of (A).

(b) Both Assertion (A) and Reason (R) are true but Reason (R) is not the
correct explanation of (A).

(¢) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.

17. Assertion (A) : It is advised that while diluting an acid one should add
water to acid and not acid to water keeping the solution continuously

stirred. 1

Reason (R) : The process of dissolving an acid into water is highly

exothermic.

18. Assertion (A) : The energy which passes to the herbivores does not come

back to autotrophs. 1

Reason (R) : The flow of energy in a food chain is unidirectional.

19. Assertion (A) : Amoeba takes in food using finger like extensions of the

cell surface. 1

Reason (R) : In all unicellular organisms, the food is taken in by the

entire cell surface.

20. Assertion (A) : Melting point and boiling point of ethanol are lower than
that of sodium chloride. 1

Reason (R) : The forces of attraction between the molecules of ionic

compounds are very strong.

31/6/1 —3= 15 -2~ P.T.O.



21.

22.

23.

24.

25.

wEg-@
I3 TEAT 21 9 26 3fd org-STRM IF F |

Seoi@ hifsre fop Fier < meft Tt arfuforean tefea arfuferan § steran 781 | 309 s
1 g i |

MnO, + 4HCl —> MnCl, + 2H,0 + Cl,

(a) HeTRitet qredl shi afal by 7ifd 3T U8 & Tehtsr shi 3 7 o o= & 1=l <

i ST |
T

(b) T =T % off srcEie (fovmm) W g ® 7 waw # fafew |

TR 9@ TET o T § IURIT Tel1ed o1 919 TARGT | $Eehl I~ i drefl U
IooRd HITT | Ffe 37 T3 1 Qe Teh ST A1 SHRY T TR o) &/ T1el 81T 2

A fifse feret Sga gfe o1 wfote fra e @ o7 3ok @ fadl & ot fawarm =1
3T IR M +T T AR T fegn Srar 8, O 399 Janfed 9w § 1 9iEdT &l
Strar 7 39 forem w1 ferfay freeht srear & 3utied 9w 1 g fopan S R |

ITRE | T TR 1S ThT WTEAT A | H1eH B H Toisl il 7 |
4

A

(a) 9 oFl ATl § ¥ I H1 HAIETH 3 qIeAT o Hel gud § 7 U I ol gfy
HINT |
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SECTION - B
Q. No. 21 to 26 are Very Short Answer Questions.
21. State whether the given chemical reaction is a redox reaction or not.

Justify your answer. 2

MnO, + 4HCl —> MnCl, + 2H,0 + Cl,

22. (a) List two differences between the movement of leaves of a sensitive

plant and the movement of a shoot towards light. 2
OR
(b) What happens at synapse between two neurons ? State briefly. 2

23. Give the name of the enzyme present in the fluid in our mouth cavity.
State the gland which produces it. What would happen to the digestion

process if this gland stops secreting this enzyme ? 2

24. Let the resistance of an electrical device remain constant, while the
potential difference across its two ends decreases to one fourth of its
initial value. What change will occur in the current through it ? State the

law which helps us in solving the above stated question. 2

25. A light ray enters from medium A to medium B as shown in the figure.

4

/

(a) Which one of the two media is denser w.r.t. other medium ? Justify

your answer. 1
31/6/1 —2— 17 -2 P.T.O.



26.

27.

28.

(b) afe AT A T YRR 6l =9 v, 3R AT B H Y1 i 91 vy, |, A1 71eW B
1 HTEH A % ATHET ST 991 ¢ 7
Jera
(a) IS TRTY fortoT SR | TR E1oht &R 3TR STeT i Jeh hid dTet TS T 39
HA 2 | TH THT H Th1 o 70 1 g2 o fore Fmifend sm@ ifaw |
(b) BN AR I % U AU FEAM: 2.42 3R 1.33 & | ER & "UE A H
TSR T <hITT |

frfafaa &1 feam =t fertfa @ aren fram fafee -
(a) Torelt uRraTE) €ie <Teteh & =R 3T Icq— reehig & <At femm, e
(b) Torelt St &1 & & o T foua aRraTet Hie =Tets W SR st st feum

Qug - T
Y T 27 § 33 AY-ITI T F |
Ae IR STedlsta 37 fastiadisiaa e & uftegd & aisman &) samen ifsu |

(2) Tore qeed X o1 SuanT we Fmfor < we o w9 § T San @ 3R ug Wi o
Afocta 7 | 93 HC!I & 3tfvrfsran shteh g uered fopell 79 =1 3o a1 ¢ I 9
T R AT R A R |
(@) X 1 vEEe AW 3R g e |
(1) IV HYT H B ATl TEH R TR o TErIeh Tt fafEay |

YAt
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(b) If the speed of light in medium A is v, and in medium B is v,, what is

the refractive index of B with respect to A. 1
OR
(a) A ray of light starting from diamond is incident on the interface
separating diamond and water. Draw a labelled ray diagram to show
the refraction of light in this case. 1
(b) Absolute refractive indices of diamond and water are 2.42 and 1.33
respectively. Find the value of refractive index of water w.r.t.

diamond. 1

26. State the rule to determine the direction of a (a) magnetic field produced
around a straight conductor carrying current and (b) force experienced by
a current carrying straight conductor placed in a magnetic field which is

perpendicular to it. 2

SECTION - C
Q. No. 27 to 33 are Short Answer Questions.

27. Explain the process of transport of oxygenated and deoxygenated blood in
a human body. 3

28. (a) A substance X is used as a building material and is insoluble in
water. When it reacts with dil. HC/, it produces a gas which turns
lime water milky. 3
(1) Write the chemical name and formula of X'.
(i1) Write chemical equations for the chemical reactions involved in
the above statements.

OR
31/6/1 3= 19 - P.T.O.



(b) Tt arg M < 99 3T @ ATUTReT 89 W B T4 ‘G Fahardt B | gt og <hi
ferelt e @ arfferan 8 W & 79 ‘G freperdt @ |

Q) = e % am faRan |
(1) 39T\ b Iuferfa o1 wdieror 19 fohe TehR i 2

(i) 38 °1q ST (1) fopelt 3reeT e (2) Topelt aTRes o @y Srffshan & Twmf
gHtertor fefa |

29. (a) WIS IR § 7l # F1fad 8F aTcl M 3T 3H Ffad i aTelt Tf
am faflaw | s g8 g gar sk o wifed B & @ san IR g arefl <
RT3 <t T AT |

JYan
(b) = feu T s H
() 3Afha W A, B 31 C &1 7 fofaw |
(i) A 3R C %l fafau |
(iii) =3t o wfcerdf = fonfa gam g | w0 2

24 11
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(b) A metal ‘M’ on reacting with dilute acid liberates a gas ‘G’. The same

metal also liberates gas ‘G’ when reacts with a base.
(1) Write the name of gas ‘G’.
(11) How will you test the presence of this gas ?

(111) Write chemical equations for the reactions of the metal with

(1) an acid and (2) a base. 3

29. (a) Name the gland and the hormone secreted by it in scary situations in
human beings. List any two responses shown by our body when this

hormone is secreted into the blood. 3
OR
(b) In the given diagram 3
(1) Name the parts labelled A, B, and C.
(i1) Write the functions of A and C.

(i11) Reflex arcs have evolved in animals ? Why ?

r — 1

G NET

31/6/1 —2— 21 -2~ P.T.O.



30. 3YFFd IeTEvl <l TRl & gfY Hifse o o wamatien srffsmanatt o et
() ¥ afEds,
(b) T\ FRRE / IS, 3R
(¢) T diEa grI fopan Siran 2 |

Tceh Tkt | TR o foru vamafaes gftestr difs |

31. Trere 3 T BM o SRw T | fortor TR <6t Trgrral § Freforfaa sl gurisy -
(a) Tiepe 3fE o e o= gra wiafers s

(b) U °IE b ITAN g fehe gfE Ty 1 Temed

32. dfeIfetshT fpd wEd 2 ? IS Uit greeh 61 wifd % Aagr Hdt § 2 fopeft
URATToTeRT % ekl & % Yo i IR HINT 3 graehi 8 Tansti 1 feand off
3feRd SHINT |

33. (a) foreht STTER s@er # wut ¥R FSA & (i) fohaw ufawra wmm = @ S § ufafda
LA & a7 (11) T} ferd fasra St 3TTel T b SqeTe hd 8 ?

(b) Ot W ford hgd g 2 forell it & i STTRR fEed =R s7era dfe ardt &w/i
377k <1 T 21 BIdl @ 2 HROT GIT |
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30. With the help of an appropriate example, justify that some of the chemical

reactions are determined by
(a) Change in temperature,
(b) Evolution of a gas, and
(¢) Change in colour

Give chemical equation for the reaction involved in each case. 3

31. State reasons for Myopia. With the help of ray diagrams, show the
(a) 1mage formation by a myopic eye, and

(b) correction of myopia using an appropriate lens. 3

32. What is a solenoid ? When does a solenoid behave as a magnet ? Draw the
pattern of the magnetic field produced inside it showing the directions of

the magnetic field lines. 3

33. (a) Write the percentage of (1) solar energy captured by the autotrophs
and (i1) energy transferred from autotrophs to the next level in a food

chain.

(b) What are trophic levels ? Why do different food chains in an ecosystem

not have more than four to five trophic levels ? Give reason. 3

31/6/1 3= 23 -2~ P.T.O.
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SECTION -D
Q. No. 34 to 36 are Long Answer Questions.

34. (a) (1) A compound ‘A’ with a molecular formula of C,H,O, reacts with

a base to give salt and water. Identify ‘A’, state its nature and
the name of the functional group it possesses. Write chemical

equation for the reaction involved.

(11)) When the above stated compound ‘A’ reacts with another

compound ‘B” having molecular formula C,H;O in the presence

of an acid, a sweet smelling compound ‘C’ is formed.

(1) Identify ‘B’ and ‘C’.

(2) State the role of acid in this reaction.

(3) Write chemical equation for the reaction involved. 5
OR

(b) (1) Name the compound formed when ethanol is heated at 443 K in

the presence of conc.H,SO, and draw its electron dot structure.

State the role of conc.H,SO, in this reaction.

(i) What is hydrogenation ? Explain it with the help of a chemical

equation. State the role of this reaction in industry. 5

35. Give reason for the following :

(a) During reproduction inheritance of different proteins will lead to

altered body designs.

(b) Fertilization cannot take place in flowers if pollination does not

occur.
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(¢) All multicellular organisms cannot give rise to new individuals

through fragmentation or regeneration.

(d) Vegetative propagation is practised for growing only some type of

plants.

(e) The parents and off-springs of organisms reproducing sexually have

the same number of chromosomes. 5

36. (a) (1) What is meant by resistance of a conductor ? Define its SI unit.

(1) List two factors on which the resistance of a rectangular

conductor depends.
(i11) How will the resistance of a wire be affected if its
(1) length is doubled, and
(2) radius is also doubled ?
Give justification for your answer. 5
OR

(b) In an electric circuit three bulbs of 100 W each are connected in
series to a source. In another circuit set of three bulbs of the same

wattage are connected in parallel to the same source.

(1) Will the bulb in the two circuits glow with the same brightness ?

Justify your answer.

(1) Now, let one bulb in both the circuits get fused. Will the rest of
the bulbs continue to glow in each circuit ? Give reason for your

answer. 5
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SECTION - E

Q. No. 37 to 39 are case based / data based questions with 2 to 3 short

sub-parts. Internal choice is provided in one of these sub-parts.

37. On the basis of reactivity metals are grouped into three categories — 4
(1) Metals of low reactivity
(i1) Metals of medium reactivity
(i1i1) Metals of high reactivity

Therefore metals are extracted in pure form from their ores on the basis of

their chemical properties.

Metals of high reactivity are extracted from their ores by electrolysis of

the molten ore.

Metals of low reactivity are extracted from their sulphide ores, which are
converted into their oxides. The oxides of these metals are reduced to

metals by simple heating.

(a) Name the process of reduction used for a metal that gives vigorous

reaction with air and water both.
(b) Carbon cannot be used as a reducing agent to obtain aluminium from

its oxide ? Why ?

(¢) Describe briefly the method to obtain mercury from cinnabar. Write

the chemical equation for the reactions involved in the process.
OR

(¢) Differentiate between roasting and calcination giving chemical
equation for each.
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38. All human chromosomes are not paired. Most human chromosomes have a
maternal and a paternal copy, and we have 22 such pairs. But one pair
called the sex chromosomes, is odd in not always being a perfect pair.
Women have a perfect pair of sex chromosomes. But men have a
mismatched pair in which one is normal sized while the other is a short
one.

(@) In humans, how many chromosomes are present in a Zygote and in
each gamete ?

(b) A few reptiles rely entirely on environmental cues for sex
determination. Comment.

(¢) “The sex of a child is a matter of chance and none of the parents are
considered to be responsible for it.” Justify it through flow chart only.

OR

(¢ Why do all the gametes formed in human females have an
X chromosome ?

39. A student took three concave mirrors of different focal lengths and
performed the experiment to see the image formation by placing an object
at different distances with these mirrors as shown in the following table.

Case No. | Object-distance | Focal length
I 45 cm 20 cm
1I 30 cm 15 cm
III 20 cm 30 cm

Now answer the following questions :

(a) List two properties of the image formed in Case I.

(b) In which one of the cases given in the table, the mirror will form real
image of same size and why ?

(¢) Name the type of mirror used by dentists. Give reason why do they
use such type of mirrors.

OR

(¢) Look at the table and identify the situation (object distance and focal
length) which resembles the situation in which concave mirrors are
used as shaving mirrors ? Draw a ray diagram to show the image
formation in this case.
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